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QUESTION 1

Which two statements are true about Fn Context?

A. You cannot configure multiple contexts for your function development.
B. Fn Context stores the information related to APl URL and registry.

C. The default context is created during the first run of the Fn CLI.

D. Fn Context does not support local development.

Correct Answer: BC

QUESTION 2

Which option represents three views of a Scrum board?

A. Active Sprints, Reports, and Copy Boards

B. Backlog, Active Sprints, and Reports

C. Custom Boards, Active Issues, and Reports

D. Backlog, Active Issues, and Reports

Correct Answer: B
https://docs.oracle.com/en/cloud/paas/developer-cloud/csdcs/use-agile-boards-update-issues.html Use
Scrum Boards

Using a Scrum board, you manage and update issues using sprints. A Scrum board has three views:
Backlog, Active Sprints, and Reports. The Backlog view lists all active and inactive sprints of the board,
and a backlog list of issues. The Active Sprints view enables you to manage the progress of issues of an

active sprint. The Reports view displays various issue reports.

QUESTION 3

You have deployed a Visual Builder Studio application and shared its URL with the enterprise. The enterprise gives
feedback that the deployment is incorrect and does not meet their requirement specifications regarding the URL
definition. Even though the application works as expected, they are insisting that you make corrections to meet their
specified requirements. What capabilities in Visual Builder Studio deployment activities would you use to meet this
customer requirement?

A. Undeploy the incorrect version of the application and then redeploy with a custom URL for the deployed application.

B. Deploy the applications to display a version number or the word "ACTIVE" in the URL of the web application.
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C. Set up the Visual Builder deployment to install the application on an on-premises server in the enterprise\\'s data
center.

D. Deploy a new version of the application with corrections and have both versions available at the same time.

Correct Answer: C

QUESTION 4

You have created the manifest file that Kubernetes uses when deploying the application to an OKE cluster in Oracle
Cloud Infrastructure. Which three parameters are present in the manifest file that Kubernetes uses when deploying the
application to a cluster by pulling an image from the Oracle Cloud Infrastructure Registry, if the image is private?

A. Public key

B. Container port number

C. Image path

D. Secret

E. Auth Token

Correct Answer: ACE

QUESTION 5

Before you create a domain with Oracle WebLogic Server for OC If you must provide these passwords in the encrypted
format and not as plain text: Administrator password for the new domain Administrator password for an existing
database, if you are creating a domain that includes the Java Required Files (JRF) components Client secret for an
existing confidential application, if you are creating a domain that uses Oracle Identity Cloud Service for authentication
Which OCI service must you use to encrypt sensitive data?

A. Oracle Cloud Infrastructure Vault

B. Oracle Cloud Infrastructure Resource Manager

C. Oracle Cloud Infrastructure Identity and Access Management

D. Oracle Identity Cloud Service

Correct Answer: A
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